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Problem Set II:  Show all your work for ANY partial credit! (20 points)
Due: December 15, 2009
1.
If the interest rate is 9%, what is the present value of an investment that will pay you $13,400 next year as well as $15,560 in two years? (2 points)

2.
Eleanor Forsythe has just retired and plans to consume $8,640 from the retirement account every year for the next 16 years starting one year from today, meeting the rest of the expenses from other resources.  If the annual interest rate is 9.6%, how much does Elanor Forsythe have in the retirement account today? (3 points). 

3.
Calculate the current yield on a $10,000 U. S. Treasury Note or Bond with maturity dates of  (3 points) – you MUST give the actual coupon paid each year and actual price of the bond (from the Wall Street Journal.com – as provided).     Date of:  Nov. 2012 with a coupon rate of 1.375%
4.
Morgan Nichols has just bought a boat by taking an unconventional 19 year, $70,226 mortgage from the bank.  The interest rate is 11.7%.  The mortgage is to be paid off by payments made every year starting next year.  How much does Morgan Nichols have to pay every year to repay the mortgage? (3 points)
5.
For a $100,000 U.S. Treasury Bill with a maturity date of May 20, 1999, what is the dealer’s profit?  (Note: you first need to figure out the bid (and then asked) price of the bond from the yield on a discount basis.)  Use the “Following the News” article on page 57 of our textbook.  (4 pts)
